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~OSMOS: Complete Online Solutions Manual Organization System

Chapter 3, Problem 3.

Find the currents i; through i4 and the voltage v, in the circuit in Fig. 3.52.
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COSMOS: Complete Online Solutions Manual Organization System

Chapter 3, Problem 15.

Apply nodal analysis to find i, and the power dissipated in each resistor in the circuit of
Fig. 3.64.
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Chapter 3, Problem 2.

For the circuit in Fig. 3.51, obtain vy and v,.
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Chapter 3, Solution 17.

A\ 4

%89

60—v, Vi nwv
8 2
60-v, cmvs
10 2

Atnode 1, 120 =7v; - 4v, (D)

Atnode 2, 3ig+ =0

Butip= 60_V1 .
4

Hence

3(60—V1)+60——V2 V-

Y2 0 — 1020=>5v; + 12v,
4 10

Solving (1) and (2) gives vi =53.08 V. Hence iy = 6
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